
SAP ABAP table TDGT2 {DG: Transit countries, leg indicator, indicator sea/air}

TDGT2

MANDT [CLNT (3)]

ROUTE [CHAR (6)]

DGSENDR [CHAR (3)]

DGRCVER [CHAR (3)]

DGCTRY [CHAR (3)]

DGCOUNT [NUMC (2)]

T000

MANDT [CLNT (3)] TDGT2-MANDT = T000-MANDT 0..N

1

T005

MANDT [CLNT (3)]

LAND1 [CHAR (3)]
 TDGT2-DGCTRY = T005-LAND1 0..N

1 TDGT1

MANDT [CLNT (3)]

ROUTE [CHAR (6)]

DGSENDR [CHAR (3)]

DGRCVER [CHAR (3)]

 TDGT2-DGRCVER = TDGT1-DGRCVER 

0..N

0..N

 TDGT2-DGSENDR = TDGT1-DGSENDR 

0..N
0..N

TVRO

MANDT [CLNT (3)]

ROUTE [CHAR (6)]

 TDGT2-ROUTE = TVRO-ROUTE 

1..N

1


